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FEX Ei4 - - - - - BT

5 ES g 5 ES g % 8 g % 8 7 % 8 # ()

MEE 2 2 =7 « 2fF] 2,305 | 2,631 | 4,836] 1,133 | 1,220 | 2,353 |49.15|48.20 |48.66] 1,132 | 1,219 | 2,351 |49.11 |48.16 |48.61 372
2MME 2 2 =T 4 & 727 832 | 1,559 400 460 860 | 55.02 | 55.29 | 55.16 400 460 860 | 55.02 | 55.29 | 55.16 160
ik I R F T 674 775 | 1,449 382 398 780 |56.68 [51.35 [ 53.83 382 398 780 |56.68 [51.35 [ 53.83 124
4|l EANE W o F 1,223 1,399 | 2,622 685 750 | 1,435(56.01 |53.61 |54.73 685 750 | 1,435]56.01 [53.61 |54.73 262
5|40 I R I (R F fE) 933 | 1,166 | 2,099 524 629 | 1,153 156.16 [53.95 [54.93 524 629 | 1,153 56.16 |53.95 |54.93 133
6|15 ¥ F #E AN &= fiH 1,492 | 1,686 | 3,178 784 879 | 1,663]52.55|52.14 |52.33 784 879 | 1,663 |52.55 [52.14 |52.33 229
ME o FE o » 7 L bl 1,160| 1,300 | 2,460 630 709 | 1,339154.31 |54.54 |54.43 630 709 [ 1,339154.31 |54.54 |54.43 138
8| it = fig| 1,797 | 1,957 | 3,754 892 937 | 1,829]49.64 |47.88 |48.72 892 937 | 1,82949.64 [47.88 |48.72 395
9 F A [ =& fF| 1,242 1,348 | 2,590 666 699 | 1,365]53.62 [51.85|52.70 666 698 | 1,364 |53.62 [51.78 | 52.66 218
oK ¥ F o= fiE 1,217 1,420 2,637 620 646 | 1,266 |50.94 |45.49 |48.01 620 646 | 1,266 |50.94 |45.49 |48.01 262
11|18 I = figl] 1,240 | 1,284 | 2,524 693 741 | 1,434 155.89|57.71 | 56.81 693 741 | 1,434 155.89 |57.71 |56.81 358
12k B’ R O AN &= fiE 1,062 1,145 2,207 518 544 | 1,062 |48.78 |47.51 |48.12 518 544 | 1,062 |48.78 [47.51 | 48.12 181
13|%2 Y = fiF 727 804 | 1,631 374 409 783 |51.44 |50.87 [51.14 374 409 783 |51.44 |50.87 [51.14 228
4R & E N £ = 5 12 16 28 8 10 18 166.67 |62.50 | 64.29 8 10 18 166.67 |62.50 | 64.29 8
153 8 N 283 339 622 143 165 308 150.53 |48.67 | 49.52 143 165 308 150.53 |48.67 | 49.562 123
168 L aaz=7y = f8F 219 309 528 128 165 293 |58.45 | 53.40 | 55.49 128 165 293 |58.45 | 53.40 | 55.49 121
17\ % At B 4 9 Al 1,698 | 1,823 | 3,421 808 879 | 1,687 ]50.56 [48.22 [49.31 808 879 1,687]50.56 |48.22 |49.31 357
183 HT & AN = ff 606 704 | 1,310 350 400 750 |57.76 | 56.82 | 57.25 350 400 750 |57.76 | 56.82 | 57.25 147
19(ifi & AN £ = fFrf| 1,258| 1,400 | 2,658 666 716 | 1,382152.94 (51.14|51.99 666 716 | 1,382152.94 |151.14 |51.99 339
20|[E 4y Walaz74 =R 2,278 2,398 | 4,676 1,126 | 1,182 | 2,308 49.43 [49.29 [49.36| 1,126 | 1,182 | 2,308 |49.43 [49.29 | 49.36 505
0 ER A Mkt ) - 551 611 | 1,162 293 316 609 ]153.18 |51.72 | 52.41 293 316 609 ]153.18 |51.72 | 52.41 145
22| F Wb ¢ R 1,275| 1,443 | 2,718 691 789 | 1,480 |54.20 |54.68 | 54.45 691 788 | 1,479|54.20 [54.61 |54.42 238
23| F o ®| 2,196| 2,316 4,512 1,047 | 1,104 | 2,151 47.68 |47.67 |47.67| 1,047 | 1,104 | 2,151 ]47.68 |47.67 |47.67 366
24| 1l N £ = 523 598 | 1,121 277 293 570 152.96 | 49.00 | 50.85 277 293 570 152.96 | 49.00 | 50.85 133
25| B BT & A fH W 0 % 691 751 | 1,442 332 360 692 |48.05 |47.94 [47.99 332 360 692 | 48.05 |47.94 [47.99 92
26| X O E & fE 889 863 | 1,752 493 473 966 | 55.46 | 54.81 | 55.14 493 473 966 | 55.46 | 54.81 | 55.14 167
& il 28,178 131,218 | 59,396 | 14,663 | 15,873 | 30,5636 | 52.04 | 50.85 | 51.41 | 14,662 | 15,870 | 30,632 | 52.03 [50.84 [51.40| 5,801

£ 4 # = 17 15 32 2 4 611.76 |26.67 | 18.75 2 4 611.76 |26.67 | 18.75 0

o & i 28,195 31,233 59,428 | 14,665 15,877 | 30,5642 |52.01 [50.83 [51.39 | 14,664 |15,874 [30,5638 | 52.01 |50.82 |51.39| 5,801
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1 [ 0 R 6,233 | 761,424 | %

2 |kHE ¥ BB S hHET DR 6,146 | 727,495 | %

3 |l OB N 5,174 | 679,378 | Y&

4 |EmA 2By BB S hHET DR 5,651 | 669,719 | Y&

5 |brfe f H AL E 3 3,627 | 454,502

6 |B7Eb WEE B3 2,402 | 347,753

7 |H) 0T HARDZ Z A% KENZT 5% 268 37,913

8 |teB By TR L 265 36,646

9 |ME&E T\ S B 154 16,532

A |BEEEGH 29,920 | 3,731,362

B |Hestlv T 0 0

C |A2hBEEs (A+B) 29,920 | 3,731,362

D M B 620 77,835

E |[BEiak (C+D) 30,540 | 3,809,197

F |HESBER®%)  (D+E) 2.03 2.04

G |EBIFY 2

H |[F# 0 o

I |k 30,542 | 3,809,288
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e o2 = = x| 7|1 1 342.200 |  1,536,238.752
E & v oo # | 10| o 160.257 466,706.136
BB s oo 2| 18] 4| 11,076.127| 5,153,584.348
A ) w | 17| 7| 4538158 | 7,572,960.308
A& % & % | 42| 5| 3.426500| 6,016,194.559
= m %= @ % | 2| o 135.000 366,815.451
s om =k % | 25| 19| 6.567.402| 20,114,788.264
i % % w1 o o 178.608 580,653.416
HADZ Z A% KUICT D5 5 0 311.755 734,024.218
MO EMAAR e SR 261.000 | 1,067,300.546
B it % | 22| 11| 2,478.986 | 11,751,015.174
v o o® % o U]l 2| o 233.000 647,071.670
& 164 | 48| 29,708.993 | 56,007,352.842
N 29,708.993
B |/l fhc 0.007
C lemmms () 29,709
D |mesm 827
E |Bme (C+D) 30,536
F|fEEmEs®) (055 2.71
G [FHHm 0 2
H | R 0
T [BEEnk 30,538




